
1

manual Project 4X vertical topdeck set #401738

STEP 1

M3x5

M3x5

M3x5

M3x5

M3x5

Adaptors are NOT symmetrical. Note 
the right orientation of the “ears” of the 
vertical top deck adaptor. 



2

STEP 2

M3x6

M3x6

M3x6

M3x6

M3x6



3

STEP 3a

M3x6

M3x6

M3x6

M3x6

M3x12

M3x16

1

1

2

2

2

2

M3x6 M3x12 M3x16



4

STEP 3B

M3x6

M3x6

M3x6

M3x63x5x4

M3x12

M3x16

1

1

2

2

2

2

M3x6 M3x12 M3x16 3x5x4

Follow STEP 3B to assemble the 
vertical top deck along with the 
optional Chassis stiffener front short 
4X #401476. 



5

EXP VIEW Project 4X vertical topdeck set #401738

401739

110112

110112

401741

110411

401741

401739

401740

110128

110128

110108

110108

110108

110108

401740

http://www.serpent.com/product/804396
http://www.serpent.com/product/804396
http://www.serpent.com/product/804396
http://www.serpent.com/product/804396
http://www.serpent.com/product/804396
http://www.serpent.com/product/804396
http://www.serpent.com/product/804396
http://www.serpent.com/product/804396
http://www.serpent.com/product/804396
http://www.serpent.com/product/804396
http://www.serpent.com/product/804396
http://www.serpent.com/product/804396
http://www.serpent.com/product/804396
http://www.serpent.com/product/804396
http://www.serpent.com/product/804396

